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—— BHE 8 1,616.7 40,213.0 73,569,465 1,829 249 455,059
= — 92.0 1,877| 282 4 N 7. v
H = = it 14 2,746.7 67,862.5 126,292,696 1,861 247 459,798 8 8 930.05 99 87.6 86
BE 8 1,616.7 40,213.0 73,569,465 1,829 249 455,059
X — 275 . . : : . . 1,882| 267| 502,671 98.9 925 91.5
AL = 25t 14 2,746.7 67,862.5 126,292,696 1,861 247 459,798
- HE 8 1,616.7 40,213.0 73,569,465 1,829 249 455,059
H]2 & 3 104 — . - - : 1,838| 256| 470,799 101.3 96.5 97.7
o = t 25t 14 2,746.7 67,862.5 126,292,696 1,861 247 459,798
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g = | -& B i 89 97| 186 123 133 256 0| 442 100 162 262 179 117 296 0| 558]| 1,000f 491 509
= RE 115 64| 179 152 117 269 0| 448| 105 153 258 178 111 289 5] 552| 1,000] 550| 445
% = B i 89 97| 186 123 133 256 0| 442 100| 162 262 179 117| 296 0| 558 1,000f 491 509
i #E 115 64| 179 152 117 269 0| 448| 105 153 258 178 111 289 5] 552| 1,000] 550| 445
5 ~ = B i 89 97| 186 123 133 256 0| 442 100 162 262 179 117 296 0| 558| 1,000] 491 509
a - i 2E 115 64| 179 152 117 269 0| 448| 105 153| 258 178 111 289 5] 552| 1,000] 550| 445
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1. 324 11818 (£ER) B’iE NO. 1 TR ECHEES
1kg 107—I)LE MEEER BT E (%)
% ARB| B wESR A f& | =22 £ & [Tke| 107—H | 1KeX 1071 %
I)7 FEfH X5
% A a Ke = = Ke Al | E= RE ® £ g 8 ®r £
—— BHE 6 1,130.0 27,649.5 52,723,231 1,907 245 466,577
= | — 3738 1,877| 282 4 101. . .
H = = it 6 1,130.0 27,649.5 52,723,231 1,907 245 466,577 8 8 930.05 01.6 86.9 88.0
BE 6 1,130.0 27,649.5 52,723,231 1,907 245 466,577
X — 11.3 . . : : . . 1,882| 267| 502,671 101.3 91.8 928
AL = 25t 6 1,130.0 27,649.5 52,723,231 1,907 245 466,577
- HE 6 1,130.0 27,649.5 52,723,231 1,907 245 466,577
52 & 3 4.3 — . - - : 1,838| 256| 470,799 103.8 95.7 99.1
o = t 25t 6 1,130.0 27,649.5 52,723,231 1,907 245 466,577
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a - i #E 154 16 170 193 94| 287 0|l 457 112 140( 2521 176 103 279 12] 543]| 1,000] 635 353
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